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—— - - —IMPORTANT NOTES -

(A) Please fill up the OMR Sheet of this Question-Answer Bookiet properly before answering.
et IR H U9 56 1 9 Y9 3D ol 31T, TR, T B Tt THE R WA |

(B) The question paper is divided into different unit and parts. The aumber of questions to be attempted and their
marks are indicated in each unit and parts.
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(C) Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
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(D) The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
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(E) Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer

Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.
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(F) Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.
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I % e ford T I H eI §RT ST FEl R

(G) If there is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
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(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.

nTel H wEHTR Y Hietds e § WeE S TS & enget fw 1 sl MR B uget given W s
FA AT I AR F I I |

(I)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
Fel HFRR QT % SO Hed 59 SNUR.AR. T W il aifed faawer et st 07 @ waurigEs 98 ) E|e
@ I 9% TR, 5 FEl § FHE Tel e et oft v & eafome @i

(J)  This OMR Sheet consists of Tweo parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
T .OH.AR. 756 < Wl § s &, Foend oy geend g@fea € 1 9 & 9 enaeft w T

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
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Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidature for the entire examination shall be rejected by the commission, for which he wili be liable.
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Unit -1 (50 Marks)

@re-1 | (50 37F)
Part— A Marks : 10
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Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks. - -
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1. Enlist any two salient features of Nathdwara paintings.
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2. What was the attitude of Jaipur Prajamandal towards Quit India Movement of 1942 ?
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3.  Explain the nature of Din-i-1lahi of Akbar.
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4. What is the fundamental difference between the religious teachings of Arya Samaj and
Ramkrishna Mission ?
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5.  What do you understand by the ideals of the Renaissance Man ?
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Part-B Marks : 20
-9 ¥ : 20
Note : Answer the following questions in 50 words each. Each question carries 5 marks.
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6. Throw hght on the concept of “Rina” in Indian tradition.
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7.  Explain the strategic importance of the fort of Ranthambhor.
TR & g & Y e WY |

HAEC _JIA¢ ATeml H 1EwWd A0a/3 59T 9 9

~7)
Q1797 &7 91O A2 787 39078 HM] 341

AL AT & / o RTel ET Ot A oI ST

AT i D Ca
OO NP e i A AT €

o




8.  Discuss the nature of “1857°.
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9.  “Treaty of Versailles was résponsiblc for the Second World War.” Comment.
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Part-C T _ ‘
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Note : Answer the following question in 208 words. The question carries 20 marks.
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-10.  Critically dlscuss Maldeo’s relations with Humayun and Sher Shah.
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Write an essay on the ancient Indian Scientific Literature.
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{(Unit-II) (50 Marks)
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Note: Attempt all the following questions in not more than 15 words each. Each question
carries 2 (two) marks.
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1.  Define the word ‘Secular’ as contained in the preamble of India’s Constitution.
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2. Define Money Bill.
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3.
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What are the characteristic features of ‘Good governance’ ?
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4.  What was the importance of Munshi-Ayangar formula in the Constituent Assembly ?
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5.  Distinguish between the Secretariat departments and the Directorates at the State Level.
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Part—B Marks : 20
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Note : Attempt all the following questions in 50 words each. Each questlon carries 5 (five) marks.
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6.  What did the Indian Constitution borrow from the Government of India Act of 1935 ? Exp]am
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7.  What has been the progress in the realm of Citizen’s Charters in India ? Discuss the
positive impact and limitations. .
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“India is a Federal State with several Unitary features.” Comment
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9.

“A strong Indian democracy needs important reforms in its election system.” Comment.
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Part-C Marks : 20
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Note : Answer the following in not more than 200 words. The question carries 20 marks.
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10. “Despite several challenges, India will remain a strong and united Nation.” Which political,
administrative, social and economic factors lend strength to India’s Unity ? Discuss.
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“Ever since its formatlon the State of Rajasthan has been through a series of
administrative innovations and reforms.” Discuss the major innovations and reforms in
the realm of public administration, policy making and responsiveness.
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Note :

(Unit-TII) (50 Marks)
& =I1) (50 37F)

Part— A _ _ M'arks:lO
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Answer the following questions in 15 words. Each question carries 2 marks.
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What programs have been initiated by Government for Skill Development in India ?
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Suggest important measures for improving the Global Competitiveness of India.
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3. 7 Which are the ‘Sunrise’ industries in India ? - —— -
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4.,  Specify the basic indicators used in preparing the Human Development indiceé.
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5.  Specify the features of ‘Sansad Adarsh Gram Yojna’.
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Part—-B Marks : 20
W —& 3iF : 20
Note : Answer the following questions in 50 words each. Each question carries 5 marks.
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6. “Neglect of agrlculture sector in Indla s Five Year Plans has far reachmg implications for
the State Economy.” Comment.
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7. Critically examine the strategy used for the development of manufacturing sector in

Rajasthan.
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8.  Analys¢ the salient féatures of Jan-Dhan Yojna initiated by Government of India:
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9.  “Beti Bachao, Beti Padhao” Yojna is crucial for reducing gender disparities.” Critically
examine the statement.
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Part—C | Marks : 20
Wt — 9§ 3 : 20
. . t -
Note : Answer the following question in 200 words. The question carries 20 marks.
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10. “Financial inclusion is imperative for the socio-economic development of the economy.”
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Analyse the impact of road development for the rural economy of the country.
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(Unit-1V) (50 Marks)

@F=1v) (50 3t5)
Part— A Marks : 10
AT — & 3w 10

Note : Answer the following questions in 15 words each. Each question carries 2 marks.
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1.  What causes rainy winter and dry summer in Mediterranean climatic region ?
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2.  What is Nubra Valley ?
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3.

What is the significance of Hungrijan Moran ? T T — -
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4.

What makes western Rajasthan extreme drought affected area of India ?
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5.

Give the characteristics of ‘Dang region’ of Rajasthan.
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Part-B Marks : 20
T - IF : 20

Note : Answer all the following questions in 50 words each. Each question carries $ marks.
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6.  Briefly describe the ‘Diago-Garsia Conflict’.
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7. Differentiate between Bangar and Khadar regions of India.
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8.  Portray the geographic-cultural identity of Shekhawati region of Rajasthan.
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9.  ‘Rajasthan has immense potentiality of solar energy.’ Explain.
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Part - C Marks : 20
AT - aF 20

Note : Answer the following question in 200 words The question carries 20 marks.
Ae: AT s R0 AT |31=rt;r¥={é720 IAHT |

10. Describe the causes of ecological crisis in India.
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L/Diqvidé: Rajasthan into Agro-climatic regions and deScribe any one in detail.
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SPACE FOR ROUGH WORK
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